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313 Beaker of mercury

A beaker with tapered sides holds mercury (density 13.6 x
10° kg/m3). The depth of the mercury is 0.15m and the top
is open to the atmosphere at sea-level. The area of the base
of the beaker is 0,.0015 m? and of the top of the mercury pool
is 0.0060m?. Determine the force exerted by the mercury on
the base of the beaker. (111F2023)
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321 Gas expansion

An ideal gas is heated at constant pressure. The temperature is initially 25° C and the volume
is 3.0 L. The gas is heated at a constant pressure. Determine its volume when the femperature

reaches 100° C. (111F2023)
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359 Variable frequency waves on a string

A string with mass per unit length 0.0035kg/m is stretched at a fixed tension, It is observed
that a wave with frequency 220 Hz has wavelength 0.40 m.

a) Determine the wavelength of a wave with frequency 110Hz on this string.
b) Determine the tension in the string.
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